Quiz 2 Preparation 4.1, 4.2, & 4.3 v02
There will be eight questions chosen from below.
No Book/No Notes/Yes Calculator 20 minutes

Name

Simplify the expression without using a calculator.

1) (-10)0

3) (-10)2

5) 3-2

Simplify the expression.
6) y(y'?)

7) x9x7

9) xIx-6

10) 3x—4y”
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11) (-5x6y-7)(3x~1y) 17) @x=3)7!

12) (11b)0 18) (3x2)3 (207!

13) (e 19) (x-5y5)-2

14) (x-3)/ 20) 8x4y2)~1 (4x4y)?
15) (x~7) 21) 3x-7y52-9)~2
16) (3p2s)3 22
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12x12
4x2

—6allp-3

3a5p-11

5—2X—4y6

5-5x-1y3

3ofll

12x‘3y‘3z3
3xy=3z-3

(-2)?x4(yz)3

30)
—4xy‘3z



-3)-2
33) 5x
9y‘3

1 1
—_
b-1 -1

36)

37) (b1

Simplify the expression. Assume that n is a counting
number.

38) b(6n - 3)p(3n + 4)

p6ébn - 1)
pén +4)

Simplify the expression without using a calculator.
40) -4-2

41) 242-5
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13) 5% 49) For g(x) = 5%, find g(3n).

Simplify without using a calculator.
Evaluate as specified. 50) 641/2
44) For £(x) = 42)%, find £(3).

51) 811/4
45) For f(x) = 4(2)%, find f(-3).
52) 84/3
11X
46) For f(x) = [EJ , find £(4).
53) 81-3/2
1)X
47) For f(x) = [EJ , find f(-4).
54) -2431/5

48) For g(x) = 3%, find g(n + 2).
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163/4 61) (x1/3)73
161/4

62) (x-1/2)~1/4
31/7
3-13/7

63) (6x3/2)(3x1/3)

Simplify the expression. Assume that all variables are
positive.
57) x1/8 x7/8

64) (25x4y6)1/2

58) x=2/5 x3/5

65) (r1/7 s1/7)?

59) x-1/6 x-6/7

X5
—1/6

60) (x5)/5
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y3/4

67)
y1/A

20x3/4
4x1/3

b2/5:1/6

b-3/5¢-5/6

574 x4/3

71
Y7

(3x5/2)2

72
Y7

x-1/2y3/8
(x2y-5)7172

Evaluate as specified.

74) For f(x) = 32X, find { [%]

75) For £(x) = 32X, find f[%]

76) For f(x) = 256X, find f[%}
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77) For (x) = 729%, find f[%]

78) For f(x) = 2(243)X, find f[%].

79) For f(x) = 2(243), find f[— %J

80) For f(x) = ~2(64)X, find f[%]

81) For f(x) = -2(64)X, find f[%].

Simplify the expression. Assume that all variables are
positive.

2) 23x1/4y2)1/3
x1/4

4251/4y3)1/2
83) [—Xl /4y ]
X

o (216b-5¢15)2/3
(16b16:7)3/4

; (1000b-5c21)1/3
(16b20c3)3/4
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Use the graph to find the requested value.
88) Find f(1).

Graph the function by hand. Then use a graphing

calculator to verify your graph. Find the domain and range
<N

of the function. y
86) f(x) = 7(3)X C f
1 /
~~~~~~~~ 8_-y~ . . . . . . . Ao /
\\\\\\\\ 6-- . . . . . . . . 4
\\\\\\\\ 4-- . . . . . . . . N
! A 1
> Tk X
8. 6-4-2-4 .2 4.6 8%x .
~~~~~~~ [ S B
~~~~~~~ Sq44 - - - - - - -
\\\\\\\ G
\\\\\\\ I L R R
N
89) Find £(0).
0/ y
1%
87) f(x) =5|— .
6 %
N
~~~~~~~~ 8"y" F 2
\\\\\\\\ 6-- . . . . . . . .
,,,,,,,,,,,,,,,,, |
ssssssss 4_- . . . . . . . . R
ssssssss 2_- . . . . . . . .
T 8. 6. 4. 2-L.2.4.6-.38x%
,,,,,,, Bk SR
,,,,,,, Y R
,,,,,,, L R
,,,,,,, Y
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90) Find f(-1). 92) Find £(-3).

/] /]
1Y MR
f [+
s
\ A
Al
4 x /
Y f Q.
91) Find £(-2). 93) Find x where f(x) = -4.
0/ y ﬂ/ y
f [+
WL
\ 4 [
BEN
A X \
j R f
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94) Find x where f(x) = -1. 96) Find x when f(x) = -4.

/]
17 NE
A B X A _—
i \ \
o f " f
95) Find x where f(x) = 1. 97) Find x when f(x) = -1.
0/ y ﬂ/ y
° f
. /
/ 4 ™
¢ "‘(/ AN | \
A x \
. B £
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Answer Key
Testname: QUIZ 3PREPARATION CH 4.1, 4.2, & 4.3V02

11

1
14) —
)le
15) x21
16) 27p6s3

3
17) X2
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Answer Key
Testname: QUIZ 3PREPARATION CH 4.1, 4.2, & 4.3V02

30) -x3y0z2

50y11
28

x6

32) —

31)

81x6

25y
x15

64218

33)

34)

69
X
35) —2;’

36)b+c
1
37) &

38) bOn + 1)
39) b(2n - 5)

1
40) - —
) 16

1
41) =
)2
1
) 17620
43) 25
44) 32
5L
2
1
46) —
)51
47) 81
48) 9(30)
49) 1251
50) 8
51) 3
52) 16

1
>3) 729

54) -3
55) 4
56) 9
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Answer Key
Testname: QUIZ 3PREPARATION CH 4.1, 4.2, & 4.3V02

57) x
58) x1/5

1
) a2

60) x2
1
61)—

62) x1/8
63) 18x11/6
64) 5x2y3
65) r2/7s2/7
66) x31/6
67) yl/2
1
6%) y1/2
69) 5x5/12
70) be
71) x253/84
72) 9x38/7
W1/2
) 7R
74) 8
75) 64
76) 2
77) 9
78) 162

2
79) £
%) 81

80) -2048
81) -512
82) 2y2/3
83) 4y3/2
9c19/4
2b46/3
5c19/4
4p50/3
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Answer Key
Testname: QUIZ 3PREPARATION CH 4.1, 4.2, & 4.3V02

86) domain: all real numbers;
range: y >0

87) domain: all real numbers;
range: y >0

88) 4
89) 1
90) 4
91) 2
92) -4
93) 1
94) 0
95) 1
96) 3
97) 2
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